
Eekhoorn: 

 
Een combinatie van een paard, een (0,2)-springer en een (2,2)-springer. Een Eekhoorn op c3 kan dus 
spelen naar a1, a2, a3, a4, a5, b1, b5, c1, c5, d1, d5, e1, e2, e3, e4 en e5. 

 
Eligiusz ZIMMER 

Best Problems 2012 












h=2                      (2+4) C+ 

2.1.1.1 

=Eekhoorn 


1.d6 Eekhoorn ×d5 2.Dd4+ K×d4= 

1.Ke7 K×d5 2.Dd6+ Eekhoorn ×d6= 

 

Eligiusz ZIMMER 
Best Problems 2013 












h‡2                      (2+3) C+ 

2.1.1.1 

=Eekhoorn 


1.Kd5 Kb5 2.e6 Eekhoorn f6‡ 

1.Kd6 Kb6 2.Te6 Eekhoorn f7‡ 


